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SRR A FEE %o E
IR0 4 9 3 16
BER | EHMmE 429 550 501,967 641,667 510,056
BWiRE 1.14 1.11 1.13 1.12
ISR 2 2
FIREA | M 386,650 386,650
BIRE 0.92 0.92
IR0 8 2 10
K| EHMmE 554,538 530,200 549,670
BWiRE 1.12 1.05 111
SA%K 4 1 5
wB | TR 454,300 510,400 465,520
BRE 1.15 1.03 1.12
SREL 8 5 2 15
TZE | FHmE 482,350 508,860 496,650 493,093
WIAE 1.06 0.99 0.97 1.02
SA%K 15 14 3 32
B2 | ¥ 715,660 719.243 815,100 726,550
BRE .11 1.17 1.08 1.13
SREL 18 17 1 36
TRIEIE | V-5 537,350 505,288 368,500 517,519
WIAE 1.09 1.08 0.92 1.08
— 153 =3
REDAC R%L
SRR =&k | R BE B FH
SREL 3 3 3 9
BER | EHMmE 329,633 408,467 389,767 375,956
BWIAE 0.93 1.02 1.08 1.01
SR 7 2 9
FEA | BRI 484,629 433,950 473,367
BRE 0.90 0.86 0.89
SA¥K 2 2 4
KBS | EHMmK 471,900 446,050 458,975
WAE 1.01 0.90 0.96
SA¥K 1 2 1 4
wE | Tk 421,300 444,400 437,800 436,975
HIRE 1.35 1.06 0.94 1.10
SA¥K 2 2
BZE | EHm 357,500 357,500
WAE 0.90 0.90
SA¥K 7 6 4 17
B2 | R 658,900 449,900 488,675 545,082
HIRE 1.04 0.92 0.99 0.99
SHEK 11 7 18
TREEIE | EHmk 377,600 408,571 389,644
BikE 0.93 0.95 0.94




